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Commissio

an@;\’@}to Frederick L. Hemke
O

(First performed by Fr ke'at Olavsfestdagene - Trondheim — 1999)

"Lurspel” is inspired by traditional Norwegian music — from the ram’s horn and the lur (a long,
wooden traditional Norwegian horn) — short melodic motifs based on the overtone series. Small
characteristic signals, often used to send important messages or perhaps just to have a chat — up and
down the valley or from mountain top to mountain top — from one sweetheart to the other — or from
one century to the next. The cell phone of an earlier era — an echo into our time.

"Lurspel” er inspirert av norsk tradisjonsmusikk - fra bukkehorn og neverlur - melodiske vendinger
gjerne bygget pa overtonerekken. Sma, karakteristiske signal — ofte brukt for a sende viktige
meldinger, eller bare for a sla av en prat - opp og ned dale — fra fjelltopp til fjelltopp — fra en kjaerest
til en annen - fra arhundre til neste arhundre. Tidligere tiders mobiltelefon - et ekko inn i var tid.
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Alto Sax
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Alto Sax
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